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Newton’s Formula
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Newton-Gauss Formula
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Newton’s Formula
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Newton-Gauss Formula
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T=F4E A 129.2 | 2.11126
A A
= | —owm | gl —.00msd | Gl
A e | s | —oous | ooros | HORES | i
aJl | 198 zodnen | -0WTS4 | —-00978
+—N | 1069  2.02808 | - - |
W, + Ay, x* r(xt—1% Yy, + Ay
Y=Y+ mﬁ“’"g 2 g A7 Y-t ‘ 'e""'l "g_hf""ﬁa =

T2 a2y A
24 (x*—1%) A W2

_ 2.0766-1+;(“”1957 +2(- .01331))+ _téz)‘(Jr 00626)

(3)2—12] 01078 + (- .00784)
e 2

+

+ (32 -12) (- .01862)

207664 =0.00822 +0.0007825 —0.000091875 4+ 0.00014546875
2.06025609375=2.06926  2.06926~ W =117.3



(3) 4 mW i K Y/ N
Newton-Gauss Formula
m o om | ¥ w| A A? A | A*
:*}'JF-'_J‘LH_UIH 1292 | 2.11128 | - | -y
Yt —Ji 119.3 | 2.07664 & —.01957 Fooogos | 01078 | oiee
% A 15.7 | 2.08333 | —.01488 | Togeod | 400863 | T0tode
EA | HLB | 2.04844  —.00784 | ToOOEOR | 01083 T
| 109.8 2.04060 | —.01162 @ "¢ i |
+-0 | 1069 | 2.02898 1 |
 — § r+1 -
e =V, ‘i'ﬂ:ﬁf} I(:rz 1) L’i'ﬂ-j‘*‘ (I : ]E(I I)ﬁﬂy—]
+1 1 -2
L (= )J:(-‘F24 ) (x— )t‘h"?fn:
2.07664 + (-.01331) + “F 1 (4 00626)
1 'I
4 GG 00734}+‘=+1’ G- D62 o1s62)
2.07664 =0.006655—0,000782540.00049<0.00043640625
=2.06925609375=2.06926  2.06926:2 Wt =117.3
() 4 & B T (m # F 32 A X
Newton-Gauss Formula ( Backward)
E R N RN At | Al
=4 SN 1260 2.10072 T T T
% 127.5 210851 | ORI 003 | el |
L 127.4 | 2.0517 AR 400643 056 03913
ull 120.2 | 2.p026 TR 02004 | 7O | 404419
ol 1248 209621 ol -.00452 | ooed | — 00584
-ty —JI 119.3 | 2.07664 | piO 00626 | T |
=4 | — B e |
#i. /| 115.7 2.06333 |
:;_—JA:;II—(T*“I.V‘;;, (x;-l):;(awljﬁuf
{;r+1}.:|: r—-1) (x-2
( t}__! ) ) "E I..r"—".‘
=2.06355 - 4~ .01957) + ¥ V4 o045z - DG =D garsy)

s

= 2.06333 + 0.009785 -0.001695—0.,0017
=2.068779765625 = 2.06879

24

(3 +1)3(3-1) (3

25125 -=0.000917109375

6

~2) (= .03013)

2068702 W ¥ = 117.2
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